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@ 0.1,0.5,0.09 @1,0.5,0.09 ® 0.1,0.05,0.09
@ 5,0.1,0.09 ® 9,0.5,0.01

1.59 =1+ 0.5+ 0.09
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@) 143 (2) 5.09 @ (1) 433 (2) 6.09
® (1) 4.43 (2) 5.49 @ (1) 4.33 (2) 5.09
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6300mL = 6.3L
A& =l A3l

=

—

o=}

=

98 - 700 x 9 = 6300( mL)

O] 9F: 6.3+ 7.8 =14.1(L)
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100 9#e] 53 170 4.87golal, 50 @72 54 17= 3.9gol=tL
Ut 1009 A2 54 271 50 9] 54 37 F o] AHo] ¥
g O FAA] FokA L.

@ 100 2742 54 2707k 186 ¢ o FHL U
@ so0e7e] T4 3707 1.86 ¢ o TS
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® 100 9742 FA 2717} 197 B FHFUL

(100 Q48] TA 27])= 4.87 + 4.87 = 9.74( g)
(50942 54 370)=3.9+3.9+3.9 =11.7(g)
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